
Answer Key  

Chapter 1 Sections 1-5 Test Review 

 

Section 1 
 

1.      2.     2a) 82.10133 d  

 

           2b)     
2
3,1  

 

 

 

 

 

 

3a)   IV  b)   III  

 

4a)       2,32,1   

             8,14,1   

             1,03,2   

 

 

Section 2 
 

5. x – int    0,6 ;  y – int  2,0  

6. x – int    0,3  and  0,
3
1 ;  y – int  1,0  

7. no x – int;  y – int  7,0  

8. x – int    0,
2
37 ;  no y – int  

9. x – int    0,32   and  0,32  ;  y – int  1,0  

10. x – int    0,3 ,  0,5  and  0,5 ;  y – int  75,0  

11.   252 22
 yx  

 

Section 3 
 

12. 
2

1
m  

13. a) 3
5

2
 xy  

 b) 2y  

 c) 8x  

 

 

 



14 a) 
2

13
2
3  xy   

 b) 
2
5

2
1  xy  

 c) 3x  

 d) 2
2
3  xy  

 e) 
5
28

5
3  xy  

 f) 
2
35

2
7  xy  

 g) 5x  

 

 

Section 4 
 

15 a) function        b)                     c) 

 b) not a function 

 c) function 

 d) function 

 e) not a function         d)         e) 

 

 

 

 

16 a) ;52  xy   function 

 b) ;3 xy   function 

 c) ;2
3

1





x
y   function 

 d) ;16 xy  not a function 

 e) ;42  xy   function 

 

 

17 a)   ,  or ℝ 

 b)   ,  or ℝ 

 c)       ,66,22,  or ℝ except 6,2x  

 d)     ,55,  

 e)   ,  or ℝ 

 

18 a)  8,3  

 b)  8,2  

 c) 








9

16
,

3

1
 

 d)   853 2  xxxf  

 

 



19 a)  7,3  

 b)  8,2  

 c) 









9

17
,

3

1
 

 d)  13,3  

 

20 a) 22sec  hxm  

 b) 62sec  hxm  

 

21 a) 







0,

3

1
 and  0,2  

 b) 







0,

5

27
 

 c)  0,5  

 d)  0,7  and  0,5  

 

22 a) 5sec m  

 b) 16sec m  


